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Questions From Oscar Wilde

Did you Know? Oscar wilde was born in Dublin on 16 October 1854. His works
are ‘Lady Windermere’s Fan’, ‘An Ideal Husband’ and ‘The Importance of Being
Earnest’, Etc. From this section, many questions can be expected like his work,
character, figure, etc. Expected questions can be asked in fill in the blanks
format, one word format, phrasal questions, etc. one shot section to get more

marks.

1. The Giant’s final journey was to
(A) his friends palace
(B) his son’s home
(C) to the neighboring village
(D) the paradise
Explanation:
The little child came back to the giant and said to him, ‘You let me play
once in your garden today you shall come with me to my garden, which is
Paradise. So the Giant’s final Journey was to Paradise by Little God.
2. Read the passage arid select the correct answer from the options given
below :
The selfish giant in the short story of Oscar Wilde, finally longs for
(A) food
(B) love
(C) power
(D) wealth

Explanation:
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The Giant in the story “The Selfish Giant” was longing for Child’s Love. He
missed that child for long days.
3. Hugh Erskine got—— pounds as his wedding present from Baron Hausberg.
(A) 10,000
(B) 20,000
(C) 30,000
(D) 40,000
Explanation:
The beggar was the Model Millionaire who finally gifted an envelope with
cheque of ten thousand pounds for Hughie Erskine - Laura Merton as
wedding gift.
4. One morning the giant was lying awake in bed and he heard some lovely
music of a bird.
The bird was
(A) Peacock
(B) Linnet
(C) Cuckoo
(D) Parrot
Explanation:
The little Linnet sings so sweet outside his window, where he thought that
it must be the King’s great musicians passing by.
5. Who was Laura Merton?
(A) Daughter of Baron Hausberg
(B) Sister of Baron Hausberg
(C) Daughter of a retired Colonel
(D) Sister of Allan Trevor

Explanation:
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Laura Merton was daughter of Retired Colonel and girl-friend of Hughie
Erskine. Hughie wanted to marry Laura Merton.
6. Where did the little boy invite the giant?
(A) To the bank of a river
(B) To the hell
(C) To the Mountain
(D) To His garden-The Paradise
Explanation:
The little child came back to the giant and said to him, ‘You let me play
once in your garden today you shall come with me to my garden, which is
Paradise.
7. The giant knocked down the wall with
(A) a big axe
(B) spade
(C) crowbar
(D) rod
Explanation:
The Giant knocked down the wall by great axe and granted the children to
play in his garden. But he missed the little boy who had kissed him.
8. The ..... asked Hughie to earn Ten thousands of his own to Marry Laura.
(A) retired Colonel
(B) retired Painter
(C) Baron Hausberg
(D) Alan Trevor

Explanation:
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10.

1.

Hughie loved Laura Merton, daughter of retired Colonel and wanted to
marry her. The Colonel made a condition to earn ten thousand pounds on
his own to marry Laura.

Hughie wanted to marry

(A) Laura Hausberg

(B) Trevor Merton

(C) Baron Hausberg

(D) Laura Merton

Explanation:

Be clear with all character’s name. Hughie loved Laura Merton, daughter of
retired Colonel and wanted to marry her.

Baron Hausberg gave Hughie and Laura a ....for 10 thousand pounds.

(A) Cash

(B) Demand Draft

(C) Cheque

(D) Promise

Explanation:

A sealed envelope from Model Millionaire on which was written “ A
wedding present to Hugh Erskine - Hughie and Laura - inside was a cheque
for ten thousand pounds.

” ...there were twelve peach-trees that in the spring broke out into
delicate blossoms of pink and pearl, and in autumn bore rich fruit”.

The trees gave fruits in—— season.

(A) Summer

(B) Winter

(C) Spring

(D) Autumn
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Explanation:
The question itself contain it’s own answer. The rich fruits are seen in
Autumn season on Giant’s garden.
12. Choose the correct option :
The Giant’s final journey was ...
(A) to hie friend’s place
(B) to the neighbouring village
(C) to paradise
(D) to his brother’ house
Explanation:
The little child came back to the giant and said to him, ‘You let me play
once in your garden today you shall come with me to my garden, which is
Paradise. So the Giant’s final Journey was to Paradise by Little God.
13. Baron Hausberg was a—
Fill in the blank choosing the correct option.
(A) Millionaire model
(B) Model Millionaire
(C) Painter
(D) Colonel
Explanation:
The Old beggar who posed for “The Model Millionaire” is one of the richest
men in Europe. He was also friend of Alan Trevor.
14. Alan Trevor was a
(A) painter
(B) colonel
(C) postman

(D) policeman
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15.

16.

17.

Explanation:

Alan Trevor was friend of Hughie and he was a painter. Alan was a strange
rough fellow with freckled face and a red ragged beard.

Hughie was wonderfully good looking with his crisp brown hair, his clear
cut profile and his grey eyes.

In the given passage the word profile means

(A) outline of the face

(B) dejected

(C) untidy

(D) skill

Explanation:

The synonym of profile is face outline. Here the appearance of Hughie was
described very well.

How long did the giant stay with his friend in Cornish Ogre?.

(A) 20 years

(B) 15 years

(C) 10 years

(D) 7 years

Explanation:

The Giant came back from his friend’s place after seven years. That was a
long stay for Giant, so he returned to his house.

The children entered the giant’s garden through

(A) the rear gate

(B) a little hole in the wall

(C) the main gate

(D) a small gate

Explanation:
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18.

19.

20.

The children had crept in through a little hole in the wall of giant’s garden
and they were sitting in the branches of the trees.

Suddenly —- sprang up, offering to demonstrate a few magic tricks to the
family

(A) Mom

(B) Shelly

(C) Celine

(D) Hubert

Explanation:

This question is from the supplementary “Caught Sneezing”. Hubert was
14yrs little boy was infested with the thieves and robbers on his way. The
thieves were hidden in nearby mansion to attack people in mansion.
Knowing this, Hubert made a first act to create a storm in a cupboard by
tossing old man’s snuff-box.

In Oscar Wilde’s “The Model Millionaire” The wedding present from the ‘Old
beggar’ to Hughie was a cheque for

(A) Five thousand pounds

(B) Ten thousand pounds

(C) Fifteen thousand pounds

(D) Twenty thousand pounds

Explanation:

The beggar was the Model Millionaire who finally gifted an envelope with
cheque of ten thousand pounds for Hughie Erskine - Laura Merton as
wedding gift.

The selfish giant saw a little boy standing under a — in a corner of the
garden.

(A) Rock
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21.

22.

23.

(B) Tree

(C) Fountain

(D) Plant

Explanation:

At one corner, it was still winter where the little boy was standing under a
tree. He was crying because he could not climb the tree as he was too
small.

When Trevor informed Hughie that he had clearly explained Hughie’s
condition to the old model, Hughie——

(A) Became very sad

(B) Praised him

(C) Became very angry

(D) Smiled at him

Explanation:

Hughie became very anger after Trevor told his private affairs to the old
poor Beggar.

In Oscar Wilde’s ‘The Selfish Giant’, the children entered the giant’s garden
(A) by climbing over the wall

(B) by opening the gate

(C) through a small hole in the compound wall

(D) by jumping over the gate

Explanation:

The children had crept in through a little hole in the wall of giant’s garden

and they were sitting in the branches of the trees.

Who remarked, “Millionaire models are rare enough, but Joe! Model
Millionaires are rarer still””, in Oscar Wilde’s “The Model Millionaire”?
(A) Hughie
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24,

25.

26.

(B) Baron Hausberg

(O) Laura Merton

(D) Alan Trevor

Explanation:

Alan Trevor remarked the above statement after gifting a cheque of ten
thousand pounds as wedding present.

In Oscar Wilde’s ‘The Model Millionaire’ why do you consider the model’s
face his fortune?

(A) because he looked miserable

(B) because he was very poor

(C) because he looked happy

(D) because he looked serious

Explanation:

Hughie felt so pity about the old beggar who posed for Model Painting.
In Oscar Wilde’s ‘The Model Millionaire’. Baron Hausberg was interested in
knowing about Hughie because

(A) Hughie was young and handsome

(B) Hughie was jobless

(C) Hughie was sympathetic

(D) Hughie was Trevor’s friend

Explanation:

The Old Beggar who was one of the great Millionaires in Europe had soft -
corner on Hughie’s situation. So he gifted for his wedding.

In Oscar Wilde’s ‘The Selfish Giant’, the song of the bird was melodious for
the giant because

(A) he had invited the bird

(B) he had been longing to hear the bird’s song
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27.

28.

29.

(C) he loved the song

(D) he hated the song

Explanation:

There was only winter in his garden after raising a huge compound wall
around his garden. Due to absence of children’s visit, the Birds and spring
did not turned up. So the Giant had been longing to hear the bird’s song.
In Oscar Wilde’s ‘The Selfish Giant’, ——came and took the giant to Paradise.
(A) Jesus Christ

(B) An angel

(C) An evil spirit

(D) The giant’s friend

Explanation:

The little boy was none-other than Jesus Christ who took the Giant to
Paradise after letting the small boy to play in his garden.

In Oscar Wilde’s ‘The Model Millionaire’, Alan Trevor was a good painter
because

(A) he was strict

(B) he had natural talent

(C) he was popular

(D) he was friendly

In Oscar Wilde’s ‘The Selfish Giant’ the giant saw something marvellous in
his garden. He saw

(A) a silver tree with golden blossoms

(B) a golden tree with white blossoms

(C) a pink tree with yellow blossoms

(D) a dull tree with no blossoms

Explanation:
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Suddenly the tree at the corner with white blossom and branches were all
golden & silver fruit in it and underneath the little boy stood there.
30. In Oscar Wilde’s "The Model Millionaire” Hughie could marry Laura
provided
(A) he lent a thousand pounds to Laura’s father
(B) he gifted Laura ten thousand pounds
(C) he came into possession of ten thousand pounds
(D) he borrowed ten thousand pounds
Explanation:
Hughie could marry Laura, only after providing ten thousand pounds of his

own to Mrs. Colonel.
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